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Run 5570 quartetwise, asym0Osub: Beam ON

—— Laser ON Entries: 25808 Entries: 11699
Mean: 13.0523 +- 0.0055 Mean: 13717 +/- 0.0020 11699
— Laser OFF Std Dev: 0.8915 +- 0.0039 | Std Dev: 0.2198 +- 0.0014 1.372
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—— Laser ON Entries: 25808 Entriea: 116949
Mean: -31.3889 «- 0.1221 | Mean: -0.1097 «- 0.0876
—— Laser OFF

Std Dew: 19.6204 +/- 0.0864 | Std Dev: 10.5586 +/- 0.0690
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Run 5570 quartetwise, negHO: Beam DIN

entries: 116599

—— Laser ON
Mean: 13. 80498 +/'- 0.0D58 Mean: 1.3/43 - 0.0020
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-------- Histogram Vars
Positive Hel (ON): 13.052343 +/- 0.005549
Negative Hel (ON): 13.809788 +/- 0.005907
Positive Hel (OFF): 1.371678 +/- 0.002032
Negative Hel (OFF): 1.374324 +/- 0.002035

-------- Sums and Diffs

On Diff: -0.757445 +/- 0.002904

Off Diff: -0.002645 +/- 0.002354
On Sum: 26.862130 +/- 0.011088

Off Sum: 2.746002 +/- 0.003316
-------- Asymmetries
On Asym: -31.408252 +/- -0.121346 (ppt)
Off Asym: -0.109698 +/- -0.097618 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 24.116129 +/- 0.011573
BkSub Asym: -31.298554 +/- 0.155737 (ppt)




posHO

asym (AccO) / ppt

Run 5570 quartetwise, posHO vs time Run 5570 quartetwise, negHO vs time
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